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QUESTION 1

An experienced system administrator reports near maximum MPB utilization with VSP G400 arrays operating in a GAD
pair. Each array is supporting 100K IOPS with a 50% read workload. The MPBs should be capable of supporting more
than 200K IOPS with this profile according to the basic array sizing tools.

Which two statements are correct in this scenario? (Choose two.)

A. Cache mirroring between the two G400 arrays generates an extra MPB load which is not recorded in Hitachi Tuning
Manager.

B. Each G400 array is also processing 50K duplex write IOPS from the other G400.

C. The duplex GAD writes are changing the overall read/write I/O profile and the extra parity operations are causing the
high MPB utilization.

D. The internal array queue management scheme for GAD write operations causes MPB utilization to be doubled.

Correct Answer: BD

QUESTION 2

You are evaluating storage system performance for an interactive workload. What are three appropriate criteria in this
situation? (Choose three.)

A. customer requirements

B. throughput (MBSs)

C. elapsed time

D. storage system response time
E. resource utilization (% busy)

Correct Answer: BCD

QUESTION 3

You need to run a benchmark test to verify the performance of a new multi-user database storage implementation
before loading the real data.

What are three features you will need in the benchmark/workload generator to accomplish this task? (Choose three.)
A. variation of thread count

B. variation of sequential and random access

C. variation of RAID level

D. variation of HBA queue depth
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E. variation of read and write

Correct Answer: CDE

QUESTION 4

Which three key metrics are required for sizing applications? (Choose three.)
A. cache read hit ratios

B. IOPS

C. I/O read/write ratios

D. number of BED pairs

E. port speed

Correct Answer. ABC

QUESTION 5

Which two environments are suitable for cost effective use of Hitachi Accelerated Flash disk media? (Choose two.)
A. Online Analytical Processing (OLAP) data warehouse

B. Online Transaction Processing (OLTP) with HDT

C. large scale Consumer Video on Demand (CVOD)

D. Virtual Desktop (VDI)

Correct Answer: AB
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